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The report has to be redone because itis totally _ of organization and content.

(A deployed (B) devoid (© exclusive (D) excessive

Because John did not get enough exposure to sunlight, his test results showed that he was at the risk of vitamin
D :

(A) deficiency B superfluity (©) degeneration (D) sufficiency

The manager is unlikelyto __ this proposal, for it involves huge investment without promising outcome.

(A) introspect (B discredit (©) contravene (D) endorse

He didn’tfeelany __ for his school days, which were nothing but exams and unreasonable expectations from
parents and teachers.

(A) commencement (B) nostalgia (© sympathy (D) reconciliation

He lives in the immediate __ of the school, not only shortening the time on commuting but also sparing more
time for sleep.

(A) veracity (B velocity ©) vicinity (D) verbosity

Sarah has been a hard-working employee in the company, but _ speaking, she needs more professional expertise
before she can be promoted.

) frequently (B) previously (©) technically (D) uniquely

Lina is the leader of this group project; she needs to and help improve her group members’ work
performance.

(A) boycott (B duplicate ©) retrieve (D) supervise

We are often ___ of the amount of salt we consume. Hence, we should check nutrition labels to see how much

sodium is in a product before purchasing it.
(A) independent ® fond (©) deprived (D) unaware
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29 According to the report, the government is to increase spending next year in a bid to stimulate domestic demand

and GDP growth as exports might continue to fall duetoa _ global economy.
(A) booming B sluggish (© buoyant (D) thriving

30 Ascommodity prices have grown __ recently, low-income families are struggling to put food on the table.
(A) exponentially (B numerously (©) ostensibly (D) vengefully

31 The high-tech company planned to new program engineers who specialized in troubleshooting computer
systems.
(A) recur (B) recollect ©) refund (D) recruit

32 The team had a great season and made it to the playoffs; _ | they were ultimately defeated in the final game.
(4) hence (B likewise (© accordingly (D) nevertheless

33 If you park next to the "No Parking" sign, you will get a ticket for a traffic __
(A)ventilation (B) version (© victimization (D) violation

34 His _ andoutgoing personality had a positive effect on his ability to collaborate with his co-workers.
() extraverted B) inflexible (C) obstinate (D) refractory

35 The lawyer’s _ argument, with its logical reasoning and supporting evidence, convinced the jury of his
client’s innocence.
(A) feeble (B ineffective (©) persuasive (D) unconvincing

36 The new smartphone _ a high-resolution camera that can capture great photographs even in low-light
conditions.
(A) overthrows (B) abandons (© dismantles (D) features

37 Nowadays, it is essential for salespeople to learn some problem-solving _ to cope with difficult situations
they will encounter in the workplace.
(A) facilities (B) strategies (©) reservations (D) transformations

38 The young artist was determinedto _ his skills as a musician, practicing diligently every day.
(A) lace (B) race © hone (D) zone

39 The newly-married couple found it hard to save money because they had to spend a large _ of their budget
on food and rent.
(A) proportion (B) proposal (© promotion (D) progression

40 The __ probe caused the data to be corrupted, affecting the accuracy of the experiment’s results.
A) efficient (B malfunctioning (©) affluent (D) outstanding

AR N EE S 41 £55 45 7 ¢

Wolf pack leadership has long been of great interest to many scientists. What makes a wolf decideto _ 41 outon
its own and assert leadership of its pack? That question has long _ 42  scientists. Now, a new study shows that gray
wolves infected with the parasite Toxoplasma gondii are more likely to become top dogs than uninfected wolves. The
finding forces us to think more broadly about what influences how animals act, says Kira Cassidy, a _ 43  biologist.
Toxoplasma gondii is a single-celled parasite that infects at least one-third of the world’s human population at any given
time with the disease toxoplasmosis. _ 44  the infection is usually mild, it can be fatal to the young or immune-
suppressed. It’s famous for its ability to _ 45 its hosts, most notably in making rodents reckless around house
cats. Toxoplasma can only reproduce in the intestines of domestic or wild cats, yet it is widespread in nature, and can
infect any warm-blooded animal.

41  (A) strike B churn (©) phase (D blurt

42 () laminated (B) intrigued (©) paralleled (D) traversed
43 (A marine (B nutritional © wildlife (D) forensic
44 (A) While (B What (© Which (D) How

45 (4) transplant (B manipulate (© demobilize (D) impoverish
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Soon after ChatGPT debuted in 2022, researchers tested what the artificial intelligence (Al) chatbot would write after
it was asked questions peppered with conspiracy theories and false narratives. The results — in writings formatted as
news articles, essays and television scripts — were so troubling that the researchers minced no words in their criticism
of the new technology. Researchers predict that generative technology like ChatGPT could make disinformation cheaper
and easier to produce for an even larger number of conspiracy theorists and spreaders of disinformation. Personalized,
real-time chatbots could share conspiracy theories in increasingly credible and persuasive ways, researchers say,
smoothing out human errors like poor syntax and mistranslations and advancing beyond easily discoverable copy-paste
jobs. And they say that no available mitigation tactics can effectively combat it.

Predecessors to ChatGPT, which was created by the company OpenAl, have been used for years to pepper online
forums and social media platforms with comments and spam. Microsoft had to halt activity from its Tay chatbot within
24 hours of introducing it on Twitter in 2016 after trolls taught it to spew racist and xenophobic language. ChatGPT is
far more powerful and sophisticated. Supplied with questions loaded with disinformation, it can produce convincing,
clean variations on the content within seconds, without disclosing its sources. Recently, Microsoft and OpenAl introduced
a new Bing search engine and web browser that can use chatbot technology to plan vacations, translate texts or conduct
research.

OpenAl researchers have long been nervous about chatbots falling into villainous hands. In a 2019 paper, they voiced
their concern about their chatbot’s capabilities to lower costs of disinformation campaigns and aid in the malicious pursuit
of monetary gains, particular political agendas, and/or desires to create chaos or confusion. OpenAl uses machines and
humans to monitor content that is fed into and produced by ChatGPT. The company relies on both its human Al trainers
and feedback from users to identify and filter out toxic training data while teaching ChatGPT to produce better-informed
responses. OpenAl’s policies prohibit use of its technology to promote dishonesty, deceive or manipulate users or attempt
to influence politics; the company offers a free moderation tool to handle content that promotes hate, self-harm, violence
or sex.

46 What is the main idea of this passage?
(A) ChatGPT should not be used by conspiracy theorists and fake news spreaders.
(B) ChatGPT developers believe their chatbot can help users discern misinformation.
(© Newly developed chatbots like ChatGPT can produce well-formatted news articles.
(D) Misinformation is a serious problem with ChatGPT, which is hard to solve.
47 Which of the following statements is true about the Tay chatbot?
A It was removed from shelves on the first day in the market.
(B) It was an advanced chatbot developed by OpenAll.
(© Microsoft debuted it in 2016 to compete with ChatGPT.
(D) It was a failure because it was slow in learning new content.
48 According to the passage, what could be the best use of ChatGPT?
(A) Screening out sensitive content that promotes hate, self-harm, violence or sex.
(B Designing travel itineraries, designing studies, or writing TV scripts instantly.
(© Recognizing malicious software and political materials when processing input data.
(D) Lowering costs of disinformation campaigns for politicians.
49 According to the passage, which of the following is NOT done by ChatGPT designers in order to reduce
disinformation?
(A) Warning users that ChatGPT may sometimes respond with biased answers.
(B) Using humans and algorithms to check improper content generated by ChatGPT.
(© Avoiding grammatical errors and wrong translations in the produced texts.
(D) Hiring human Al trainers to remove bad training materials from the database.
50 Which of the following best describes the purpose of this passage?
(A) To promote the use of ChatGPT as a new search engine.
(B) To explain how ChatGPT was developed by misinformation researchers.
(© To raise alarms about newly developed Al chatbots like ChatGPT.
(D) To reduce readers’ worries about intelligent Al chatbots like ChatGPT.
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F = :3-3
» ~ 3% 5% % (transactions) T1,T2,T3, T4, T5 > fAksfi (7pF » A, 10T ih

#2 B (schedule ) » 3k 3% F R B ¥ 1= & S ehdk 4 ¥ 41 ( recovery

mechanism) & * &8 2 & { #7143 7_ (deferred update protocol ) - & ¥ i

® kst PrEkpy (checkpoint) s ¢ @ ¥73 & A Fad b1 FRTB

-2 &= = e b (committed transaction ) ek % 0 35 16 &% 1% (force write)

Il = Mg 3 B (secondarystorage ) o 3#iP' &5 B2 & iy s 0 £

FTIRAAPE 0 L2 RYEE B IR ALY P YEMPIEL o (25 4)

[start-transaction, T1]

[read _item, T1, A]

[start-transaction, T3]

[read_item, T3, C]

[write_item, T1, A, 10]

[start-transaction, T4]

[read_item, T4, D]

[commit, T1]

[write_item, T3, C, 20]

[checkpoint]

[read_item, T3, E]

[write_item, T4, D, 30]

[start-transaction, T2]

[write_item, T3, E, 40]

[commit, T3]

[read_item, T2, B]

[start-transaction, T5]

[write_item, T2, B, 50]

[read_item, T5, G]

[commit, T2]

[read_item, T4, H]

[write_item, T5, G, 60]

< system crash

J=q

N ;f:(‘;ﬁ‘-‘ﬂg + ;'J ?;Q&fg‘l,& . (:Ef- ;J%5 A 210 A,\)
(% - & %1 (Second Normal Form) ¥ %
()21 NoSQL
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& A /%ﬁﬁ?“'liﬂiﬁ T HRA SRR ? (104 )
FURAFD 2 FRATENT XL FEUTAL 2o S = £ F (D
Hit o (2)R LA (3T F I P de A R F Bk SN o BB R
FHehE & o (254 )

A8 RV s F T4 % (Data Oriented) £ 5% %+ ( Model
Orlented) B AEA I ERD hEHEY (bl R p IR A
I E]‘ﬁ;f?%'fﬁ) L0 BOIEE T P L E R R
e 805 %E?ra e L 4R kB o (25 4 )

FRA- RS 2RPROTAAR  XRELEF P N 248 TR
T RORE R o TR T A 5 22 E R (Unsupervised Data Minin )

P F g
% g K34 (Supervised Data Mining ) @ 45 4] P 3 K P £ B 9
(10 » ) T E B > 9% 2 Y TR ol 47 2LE g»—kpg;_ Bt e
TR o A BT T AR aEE * o (15 4 )
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— ~ # TCP/IP feptent 3538 3 %‘/—1 ¥ IP 4 & (IP Header) p % 78
e u £ RE & A AT it P T 5 IP Header ff et i
(& %45 % 20%)
(& Total length
(@ ldentification number
(=) Fragmentation offset
® Time-to-live
(®) Protocol

‘5G fﬂﬁv% Bna%‘”fﬂ 5G 2 £ pRix B/ EEG § X+ o
D(F 3104 0 X 20 A)
(—)#Bﬁfw? 4G > 5G {785 fe it ergF BEF PR Q i m i 2 o
O %4* 56 A& L a4 king 2R %G F 708 2 FE A TR 2 o

= ~ DNS (Domain Name Service ) #_& & ehie it jRix > 33w &~ 7[5 B DNS
S S
@3} Zonefile? s+ H* 22 p g < (54 )
O P Z 3% DNS %+ (|terat|ve DNSquery) 1 Tk - (10 4 )
(E):i‘,? SOC( Security Operation Center )4t 3 J2 % & T X ; 3 s 11T DNS
OpenResoIverﬁﬁﬂ,,hJ L EULPE O RABF TR AT X AT G
PP L o (54)

VN ,ﬁﬁﬁ (Zero Trust Architecture, ZTA) E_P % Ftf= 4 £ 8 3 3
S S 2 (%4210 4 > £ 20 ~ )
(—);ﬁ—; Il ZTA e 4 fodeds ZTA aids s o
OF I ZTA chc 415 7R 2 ik 5| 3 3p 2 o
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I~ (Firewall) 25 7 £ 4 Lhx 2R G 0 5
OLEF* P VBERS- B> 5 DMZ (Demilitarized Zone)
Frtmmp A g 5 e o (54)
(& WAF (Web Application Firewall ) 4vi# stendt & i@ g 58 B v 4 (Packet
filtered Firewall) 3 #® 7 F ? Fifimzip? - (10 4 )
G LA ¥ 1450t 38y 3] 7 10C (Indicator of Compromise ) & i B
AECFRIOCHELELZ R ? (54)



112 # Ffg 5 38 2 Ffra iz A | 33534

i Eij : i, 5 B 5 3ba5E A8 0B B AR
A 7? SR @w LB EEMT WBBEESEWAL
’?J oAz R %45 AN B B g1 e
Féﬁﬁ:ﬁ"& D20 pE Line@& 3% : @gaofeng i B
Wi OB p Iy m . [RETE 072367296
&7 '%#/i’ fé FRSRATAILE FRRROEA B AEE L TR FE Y > 2 A A .
E)?’\?—Lﬂf oz \?E\‘ﬁ'{a_é FU P’ﬁ-xéwﬂ\@v_g.xt‘,‘go

= BT A CARSCAR o P AR R B AR AR S Bl 2733 ol o 1

2 4385 @48 - (25 A)

01 | #include <stdio.h>

02 | #define SIZE 30

03 | typedef enum direction {North, South, East=3, West} dir_t;
04 | intfl(inta, intb) {

05 int x = 3.0/a;

06 double y = (a/2)*(h%3) + x;
07 returny;

08 | }

09 | int f2(dir_td) {

10 d= (North+East)/2 > d? East: West;
11 return d;

12 |}

13 | int f3(int a, int b) {

14 if (b==a || b<=1) return a+b;
15 else if (a<=1) return b-a;

16 else return f3(a-b, a-1)+b+a;
17 | }

18 | int f4(int a, int b) {

19 int data[SI1ZE];

20 for (inti=1, k=0; i<a; i++) {
21 if (1%2==0) data[k++]=i;
22 }

23 return data[b];

24 | }

25 | unsigned int f5(unsigned int a, unsigned int b) { return (~a&b); }
26 | intmain() {

27 printf("%d\n", f1(10, 4));
28 printf("%d\n", f2(South));
29 printf("%d\n", f3(6, 4));
30 printf("%u\n", f3(7, 4));
31 printf("%d\n", f4(20, 5));
32 printf("%d\n", f4(10, 4));
33 printf("%u\n", f5(4, 7));
34 return O;

35 | }




N f.l.”;:{-—r 5'] C++7fi‘\‘ ’ :F{‘%l—:l‘ Al

Except zg %] 7 1,

__\4 ) l'z':i B F]’J ‘F’ F‘: E'_L \'51 r] I_ FF F‘F‘“ﬂg -’F' ';L_}_ F %\m“l, }\ frﬁi}\ IE;.H-] J
ﬁi}k = f;’; Z ﬁ%l 4' ° ( 25 4 )
01 | #include <stdexcept> 32 | void Except::f3() {
02 | #include <iostream> 33 try {
03 | #include <string> 34 f1(-1);
04 | using namespace std; 35 cout<<"ok"<<endl;
05 | class Except{ 36 }catch(exception &e) {
06 | public: 37 cout<<"exc2"<<endl;
07 void f1(int ¢); 38 }
08 void f2(); 39|}
09 void f3(); 40 | void Except::f4() {
10 void f4(); 41 try {
11 void 5(); 42 throw out_of range("no");
12 void f6(); 43 }catch(out_of range &e) {
13 | }; 44 cout<<e.what()<<endl;
14 | int main() { 45 cout<<"exc3"<<endl;
15 Except e; 46 }
16 e.f1(1); 47 | '}
17 e.f2(); 48 | void Except::f5() {
18 e.f3(); 49 try {
19 e.f4(); 50 throw out_of range("yes");
20 e.f5(); 51 }catch(exception &e) {
21 e.f6(); 52 cout<<"exc4l"<<endl;
22 return O; 53 }catch(out_of range &e) {
23 | } 54 cout<<e.what()<<endl;
24 | void Except::f1(intc) { 55 cout<<"exc42"<<endl,
25 if (c<0) 56 }
26 throw out_of range("large™); | 57 | }
27 cout<<"excl"<<endl; 58 | void Except::f6() {
28 | } 59 try {
29 | void Except::f2() { 60 throw out_of range("ok™);
30 f1(-1); 61 Hinally {
31} 62 cout<<"exc6"<<endl;;
63 }
64 | }

% 8 134660
F = 14-2

(6 S5t ¢ R AT

BL

T



= %i 34660
=k 4-3

S EET A Java £z o R Y S RHGE S (UML> % % Bl (a)~(e) 5 ¥
bR I A AR A ﬁﬁﬂ“ TP AR R T R R E KRR R T BoAR
o\g@;ﬂ MGEfRES > R AR g - (25 4 )

01 | import java.io.*;

02 | interface Pet { _fa)
03 public abstract int eat(int f); Pet
04 |}

05 | class Dog implements Pet { —(b)__

06 public Dog(int f) {food =f; }

07 public int eat(int f) { Lo
08 food +=f;

09 return food, Dog
10 }

11 private int food; _(d
12 | };

13 | public class Main{ + Do

14 public static void main(String[] args) { e
15 Pet d1 = new Pet();

16 Pet d2 = new Dog();

17 Pet d3 = new Dog(5);

18 dl.eat(5);

19 d2.eat(5);

20 System.out.printin("dog: "+d3.eat(5));

21 }

22 | }
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A

2~ ¥ 5] Python 4258 45 0 & B = 1 Terminal 34 {7 server.py §= client.py
s » 7 client.py 313?] » Tom e quit 5 P client.py =7 Terminal 1%] ap
7 > TP Line 03, 04, 05 4% 3% 75 o7& (T8 48 - (25 » )

01 | # server.py

02 | import socket

03 | s = socket.socket(socket. AF_INET, socket.SOCK_STREAM)
04 1 s.bind(('127.0.0.1', 7000))

82 s.listen(5)

07 print(‘wait for connection...")

og | While True:

09 conn, addr = s.accept()

10 print(‘connected by ' + str(addr))
11 indata = conn.recv(1024)

12 print(‘'recv: ' + indata.decode())
13 if 'quit’ in indata.decode():

14 outdata = 'bye '

15 else:

16 outdata = 'hi ' + indata.decode()
g conn.send(outdata.encode())

19 conn.close()

20 if 'quit’ in indata.decode():

21 break

22 print(‘listen...")

23 | s.close()

24

25

26 | #client.py

27 | import socket

28 | \while True:

gg s = socket.socket(socket. AF_INET, socket. SOCK_STREAM)
31 s.connect(('127.0.0.1', 7000))

30 name = input(*>name:")

33 print(‘send: ' + name)

34 s.send(name.encode())

35 indata = s.recv(1024)

36 s.close()

37 print(">' + indata.decode())

38 if 'quit' in name:

39 break

40
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(Planning Phase ) ~ 3% 2+ (Design Phase) 2 % ( Development Phase )
ﬁ?%Mﬂ’?wﬁﬁﬂ@ﬁﬁﬁﬁ’uﬁié%ﬁﬁ%%%iﬁ%?
Flg >enE 2?2 (25 4 )

S BB EAY R LR TR e Uk A
PR AR R P AR f F P4k P EIFaRE ) MERE PREUEFT
WAeR T ? (25 4 )

SRS RER - B R ARG AR B2l bR o
B4 - ﬁ%MP}ﬂ°@$E%ﬁ“H%$&“—@“E?a}i%

\

TRESE G D LRI R 0 1R T sl s
P2 eneh gERE TR o (25 4 )

(“

e~ R 3Rt & Ee K3t (Object-oriented design, OOD) st 4 » f— 7
?thmu§§4’%%%WQ#WW*ﬁﬁﬁﬁﬂﬁﬁﬁ&ﬁ—%
2453 (Class) 3t 2 BHE 4 B A A RBZE L7 P AKRD
Bt (Attributes) §2- 72 (Methods) » 33l s B & Sk aZd o
(25 %)
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mn‘mfr 740 #3 fosingular linked list 3 42 i8 7 linearly search o 23k
Node Eﬂ.ﬁ‘%‘fﬁﬂkr“f (12 )
class Node {

int data=e,;

Node next=null;

Node(int dd, Node nn) { data=dd; next=nn; }

= ~ %= #70, 10, 30, 20, 50, 80, 40, 90, 70, 60 & == AVL tree, Min/Max heap,
2-4treg> T &V PR L yesOrno = o= T & e 3X I friE = ftree or heap

Fr BT 0 4o & _Searching Tree » 3 0] + < 7 02 2 2 (24 &)

g

Balance | Searching Tree

AVL tree
Min heap
Max heap
2-4 tree

Z AT e Huffman Tree 1 pendic 3 %% > f#3¢ 01010111110100100011
kB ¥ #cF o (10 4~ )
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Stepl: set

Step2:
Step3: while
Step3l.:
Step3z2:

4o BFS (fie &

OEREORT T & o T 4

7](—‘1%\»,"’5{‘_"&_‘;_’)\‘7{}(-) F—:'ﬁ*\v{;ﬁ%sﬁ{'ﬁr% (24A’\>
BFS /& & i | Loopl | - DFS % & /2 | Loopl | ---
print node print node
queue Stack
processSet processSet

queue) £2 DFS (fie & stack) /% & /% » 2 {7975 & Beh
4370 FBERT LA s cost s gL
SN~ (stack =8 270 B¢

B+ B ;)‘,‘;‘—IJ 1% Bl
=+ > > queue

BFS/DFS ;% & ;2 (/% 5 BFS ¢ * queue, /#5 % DFS # * stack)

queue/stack| to empty

set processSet to empty

enqueue/push

S and add S into processSet

gueue/stack

dequeue/pop and print it

enqueue/push

IS not empty

all one step neighbors which are not in processSet

according to the cost of edges and add them into processSet

Step33: display content of

B Y

gueue/stack

and processSet

R AT IR ME R FE E 0 time complexity (BERKEEE TG n

B > F' A}__

i~#p d B )4 F 5 In-Space ;g &/ ~ £.F 5 Stable ,ﬁﬂ,z

2§ | 7] 50, 46, 37, 28, 19 ie 7 % T 7| TG ot st d - (30 A)

R Time Complexity | In-Space Stable CENTE S
T Best Worst | (Yes/No) |(Yes/No) |50, 46,37, 28, 19
Bubble
Insertion
Merge (+ #cpPF >
X E 1)
Quick ( % - B %
pivot )

Radix (base 10)

Selection




